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General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than
the specified places will lead to disqualification of the candidate.
4. Write your Question Paper Code No. 57/HIS/1, Set on the Answer-Book.
5. (@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

(Shafre) (Rrgia)

(314)

Time : 3 Hours | [ Maximum Marks : 80
T : 3ER | [ qUTieh : 80

Note: (i) This Question Paper consists of 30 questions.
(ii) Al questions are compulsory.
(iii) Marks for each question have been indicated against it.

(iv) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D), out
of which one is the most appropriate. Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the question.
No separate time is allotted for attempting multiple choice questions.

Pw: () wWyE-wA30TAE
G) whywafadd
(iii) T T & 37 I G A R § |
(iv) SR8 9 i 1 @ 8 T, TH W h AR dicdsh IW (A), (B), (C) 3R (D)
2 M € Rl @ e o 1 waifyes 3fa 2 | IR Jefous Sl | 8w s I
T 38 A9 I-Yfrent 3 W shuis o AnA fRed | agfis w6 o stem |
qn 7 fear s |

1. Inheritance of mitochondrial DNA is said to be 1
(A) Incomplete Dominance
(B) Criss-cross Inheritance

(© Maternal inheritance [ NNRNNENANHN

(D) Polygenic Inheritance
g3 DNA & dwmifa ) %&d & —

(A) gl sfern
B) fra-wia aurfa
(C) e St
(D) wgSfit S

STHIS/I/314-A 3 )




2. Identify an Arachnid. 1

(A) Millipede (B)  Spider
(C) Prawn (D)  Cockroach
e WiFTe-wi B giT

() foferdie (B) wHS
(C) i (D) fererag

3.  The phenomenon which makes it difficult to close a wooden door after the monsoonis 1

(A) Plasmolysis (B)  Osmosis
(C) Imbibition (D) Diffusion
T % UTET A % ST ] &g A H HISATS HY Giere &1 Hgd 3 —
(A) FgAHAAq : B) q{ELvr
(C) 3w (D) frewor
4.  Select the vaccine used for the eradication of tuberculosis. 1
(A) DPT B) BCG
(C©) MMR (D)  Polysaccharide vaccine
Tufesh ol TN HE W T JaH B g
(A) DPT B) BCG
() MMR (D) ulclia3ss dwfA
5.  Hemosiderosis is caused due to excessive intake of which of the following ? 1
(A) Vitamin A and D (B)  Calcium and Phosphorous
(C) Vitamin C (D) Iron
gfaufem T faemr Frafafiga 1 @ fraedh st e d deqa a2 2
(A) feefim A3 D B) Hfcwm 3N wiEhE
©) fafmC (D) &
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- 6. Goitre 1s caused due to 1

(A) Deficiency of iodine in thyroxine
(B) Over secretion of thyroxine

(C) Over secretion of parathormone
(D) Under secretion of thyroxine

TS ATHE T T HRYT 8
(A) giTee | Tifea o =
(B) giiTaaa &1 Afraau

ey |||

(D) QTERITRIA T AT

7.  Which of the following is not a part of the female reproductive system in Cockroach ? 1
(A) Ovary (B)  Uterus
(C) Vagina (D)  Oviduct
fraferRa o @ @ a1 wm foerag & wrer S § e T8 g ?

(A) ISH B) T

© © sttt | ENANNARRRNAT

8.  Identify the starch containing bodies which are integral part of the chloroplasts in green

algae. 1
(A) Fucoxanthin (B)  Pellicle
(C) Pyrenoids (D) Glycogen

W F 30 TH B IR R a1l & gha dawi 1 A= qmEan e |

(A) THRRE @) Afafea ll“l“l“lll“l
(C) URRAES (D) TSR

G A
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9.  Why is the maximum number of steps limited to four or five in a food chain ? 2

forelt @rer-sj@en 3 Son 6t Streran HE IR 3t uiE 9% & i Ed g ?

10. List any two aerial adaptations found in birds. 2

ufErti ® ue S e fere g1 ST Stqge! 1 g S |

11. Draw a neat diagram of a nerve cell and label the dendrites and node of Ranvier. 2
TS AT~ 1 oS FRG SIS a1 I gl et Hr-gaafy &1 Tmie
it |

12. Name any two diseases for which bio-engineered vaccines have already been

developed. 2
Tonegi 1 Tt o I waTsT fomeh fotu g sitenfieh! fafty @ dar Sw=fi7 veet @ & fomwfia 6
AR R |

13. (a) Name the phytohormones involved in the following functions :
(i) Closing of Stomata
(i1) Prevents aging in plant parts
(b) Name two synthetic auxins. 2

(a) Trafafga frnan § srafifea wrew gmiAl & wm saE
(i) i g B
ERICE X kA C IR ETl

(b) & Ridfees it & Tm feiflaw |
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. 14. Draw a neat and labelled diagram of any edible basidiomycetes you have studied. 2
3o fora T RRAMRREAS 51 e e R 3 3 et 1 wws w@ Amifea IRe

= (I

15. In a fruit basket, one apple was rotten and after two days other apples also became
rotten. Name the hormone which caused this rottening and also state another function of

pe— T z

ot -0 3§ s Y9 u T IR @ o we 3= A9 ff ¥ U | 36 W w1 AW
Far3e Rrash Hror a1 3 T2 Ag1 g8 91 36 S 1 T 7 Al a5 |

16. Define hypervitaminosis. Give its cause. 2

17. Name the type of epithelial tissue found in the following organs :
(1) lining of the small intestine.

(ii) lining of the air-sacs in the lungs.

e evaee | MNIIREREAL 2

frferRaa il 7 ure 9 I Tfefiferrelt el @ FeRR St AT waTsy :

(iii) the skin.

G) S a1 IRH
(i) WBSH A I IR
(i) =

(iv) YAl 1 AER
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18.

19.

20.

21.

List any four factors responsible for the unchecked growth of population in India. 2

e 3 SEEE i1 difod gfe 3 fore Iatgrit e aR w1 gt A i |

Where can you locate the following structures in plants ?

(i) Bulliform cells

(i) Hydathodes

(iii) Perianth

(iv) Verticillaster 2
Nt < FrafaRaa s & foe fe v o qems s ?

() Fefiwn i

(i) ey

(iif) aRewTYS

(iv) hddsheh

How will you differentiate between mutualism and symbiosis ? Give appropriate

examples. 2

HEHINGT 3R Fgshifemr § 3at a1y | Q1 % 39w Ieren oft Ay |

(a) With the help of a flow chart show the non-cyclic photophosphorylation taking
place during photosynthesis, highlighting the products formed in this phase.

(b) Where does this cycle take place in plants ? 4
(a) T YATE I1E &l TERIAT A ThTe HINYT o SR B FTel F=shid Y19 BRI E
! 23T, T 38 TTEe § 97 9T IcTE) Y o 7arsy |

(b) Wl I =k HE WA & ?
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23.

24.

(a) Draw a diagrammatic representation of the structure of antibody and label the
specific-antigen binding site.

(b) Name the two sub-classes of lymphocytes and state their main function. 4

(@) Yieeht h g o1 e e sarse qen ffve weem (ufasm) sus we =

wiestv ([IRIIINAH

®) THH FRERT % Q I & T TS q I W HE Fdisy |

Draw a neat diagram of a mature Ovule in angiosperm and label the embryo-sac and its
contents. 4

IRrien! F qiued V] FT WS NG FIEE a1 YOI-HIY 6 IR Igeh Hieal 91 IH

arch et 7 v e [ETHNTENRRNN

Give the scientific names of the following :

(i) Onion

(i) Any one bryophyte

(iii)) The fungus from which penicillin is extracted.

(iv) Any one annelid 4
Frafafea % e T wasy :

T

(i) I ANGE
(i) % Hah o ARl SRt S 2 )

(iv) g T Wfere woft
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25. (a)

(b)
(@)
)

Distinguish between leading strand and lagging strand with the help of

appropriate diagram.
Distinguish between nucleoside and nucleotide.

T ITYH ARG <l TERIAT § 370 T 3R v T § I a5 |
JJfFAstiaEs 3R Fferanergs § 3ia 9amy |

26. Draw a neat and labelled diagram of the excretory system in humans.

HHE1 & IcASH -3 1 Teh Tex a1 AH{Thd 3TRE §915T |

27. (a)

(b)

(c)

(@)

(b)

(c)

STHIS/314-A 10 ) O

Classify the following abnormalities under autosomal and sex-chromosomal

disorders and state (i) the Karyotype and (ii) the sex expressed in each case :
Klinefelter’s syndrome; Down’s syndrome; Turner’s syndrome.

Name a pre-diagnostic technique by which hereditary disorders can be detected in
the foetus.

A colour blind man marries a woman who has normal colour vision. A son and a
daughter born to them is colour blind. Explain this with the help of a self-
explanatory flow chart.

freferiaa sramransti 1 sifeimeght ofit i freri § arfispa HIRTL 7o % &
O Y& 74T I8 o =l oft S
34 et qd T 1 AW gare R g m % e st Rt w0

ST ST Hhe 2 |

feret STty gow 1 fmg W SR S A e N i H R A w2 1w A
3q T TAGHT AT Teh TISoh! JUITY & | $h! Ueh Toid: WY YEE-T1E &l Tarar
=TT hifTT |
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. 28. (a)

(b)

@

®)

29. (a)

(b)
©

@

®)

(©)

(i)  Seema has cut her finger and blood is coming out from the cut. A sequence
of reactions takes place to prevent the loss of blood. Enumerate the steps

involved in the process.
(1) What is the process known as ?
(iif) Name a genetic disorder in which bleeding does not stop naturally.

With the help of flow charts, show the difference between the routes of blood and

tympt flowimour body. S NHRINIRIANE ¢

() i 3eht e i R qun 3EE | G e W12 | Wa-TaTE @ U & g
R ARRETE B € 1| 57 s arfrfseenat @) frfeg )

(i) YFmHRI M FEAE ?
(i) 39 IEfie R F1 W Fae e wa-yarE g T8 6 |

yarg-arel il TgRrar @ AR TR 1 B 91el SRR-YETE a1 FHieh-YaTg % |l i
R 43T |

What do you understand by sustainable development ? State any two activities
which will help in achieving this.
Distinguish between in-situ and ex-situ strategies for conservation of biodiversity.

Name any two wildlife Reserves in India and also name the species found in

ten- [ SESEEEENNRANNN 6

aaarufi faera & iyt = AR R 2 W Tl Q) Fremeraal i ==t Hifte
b vgma A 38 e frr smaT 2

9 ffgar-dww % o yyw @wenhs ot st SRRl § i
93T |

wRaad & & Q@ 9= Sfieq Al wm & 9w faifee aon 3@ w9 @ Tl
afisfisit & oft s /aise |
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30. (a)

(b)

(a)

(b)

Draw neat and labelled diagrams of the following :
(i) Stamens in Pea flower.

(i) A hypogynous flower.

(iii) Axile placentation.

Draw a neat diagram of the Vertical section of the human eye and label the

following parts :

Aqueous humour; Vitreous humour; Yellow spot and Cornea. 6

FrafeRea & @@= v Tmifea sma s=Ee

(iii) & dfiTe=TE

THa 99 ST FIE H Th Woo ARG S5 a1 Fefafga vt & Amie
Hfre -

Qe T, Terfeare g, Wi g e o
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